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1. Ms. Cunningham surprised her fans withan _____ that she was giving up the music band.
(A) engagement (B) recipe (C) announcement (D) indication
2. You could see the _____in their faces when they talked about their daughter’s acting career, because she landed as female lead in
the latest Harry Potter movie.
(A) pride (B) collapse (C) pain (D) blame
3. Thenext ____ for Los Angeles is at 12 o’clock; that is four hours later, so we have got to hurry up to get to the airport in time for
the check-in.
(A) confusion '(B) departure (C) proposal (D) declaration
4. ’m afraid I have a previous lunch ____; T will have to take a rain check on that.
(A) challenge (B) assurance (C) disagreement . (D) engagement
5. It had been so-long since we went on a vacation but this month we decided to spend ____ time with the family instead of research
the next travel destination. ' , '
(A) quality (B) energy (C) argument (D) condition
6. The important thing in life is not triumph, but the ___; the essential idea is not to have conquered but to have fought well.
(A) success (B) emotion (C) struggle (D) respect
7. Now, Ill get you to try on some test glasses, and we can narrow down how strong of a_____ you will need.
(A) generation (B) prescription (C) register (D) shuttle.
8. They failed to ____ all of their earnings on their tax return; the Internal Revenue Service (Bll%1/3) might decide to pursue criminal
charges against them if the amount is huge.
(A) disagree (B) describe (C) challenge (D) declare
9. Can you keep quiet in class? Trynotto ____ the other students. We want to stay concentrated here.
(A) research (B) distract (C) strengthen (D) spread
10. Other vegetables adopted from Mexico are the tomato (tomatl) and the chili, used as ____to native dishes.
(A) flavoring (B) dedication (C) injury (D) function
11. The big ' on Mike’s face suggested that he had good news to share; he had a broad smile on the face.
(A) future (B)signal (C) grin (D) pitch
12. Many animals in the sea might _____ due to overfishing; they become less and less common and eventually disappear completely
(A) take over (B) rage on (C) carryout (D) die out
13. Originally, people did not eXpect something of Britney Spears. _____, her new 'Blackout' was her best album ever, with not a bad
song to be found on the 12 tracks.
(A) Against all odds (B) At aloss (C) All the rage (D) At a distance
14. 1 didn't think she'd want to go back to work so soon after her mother's funeral, but she just it ; she appeared undisturbed
and calm. ‘
(A) took/in stride (B) took/for granted (C) go/the distance (D) signed/up for
15. The number of people at the victory parade ____ the team’s popularity; it had proven the team’s recognition by showing up.

 (A) got word of (B) had no clue about (C) bore witness to (D) sought high and low



IL. Cloze iRF: 18% ( BH17)

(1)) What could be more dramatic than a sailing race around the world? It takes extreme (16) and skill to sail nonstop around the
entire planet. Though sailors who join the race are required to finish the journey without any outside (17) , they are allowed to
contact one another by radio, with (18) British sailor Pete Goss saved a man’s life in the 1996 Vendee Globe race.

~ With his heart _(19) victory, Pete Goss risked everything just to compete, including his family’s house, for investing a huge
amount of money required just to take part in the sailing race. Thankfully, Goss was doing well enough to (20) himself (20) to a
win when the race continued. All of a sudden, he received a mayday signal from a fellow sailor, Frenchman Raphael Dinelli, as he
" was making his way to success. A hurricane in the Southern Ocean was posing a threat to sink Dinelli’s yacht. Goss could have kept
on going and seen him (21) ; instead of turning his back on Dinelli, he (22) turned around and went back to rescue Dinelli. Dinelli
was so moved by (23) Goss had done for him that he even asked Goss to be the best man at his wedding. Later, the two remained

teammates and friends for life.

16. (A) distractions  (B) strength (C) conditions (D) desperation
"~ 17. (A) description  (B) injury (C) courage (D) support
18. (A) what (B) where (C) which (D) that
19. (A) set on (B) narrowed down  (C) depended on (D) taken part
20. (A) cut; off - (B)carry; through  (C) take; off (D) fill; with
21. (A)drowns (B) drowning (C) to drown (D) being drowned
22. (A) immediately (B) especially (C) correspondingly (D) normally
23. (A) which (B) when (C) what (D) who

an

There is a new type of wood that you might have problems recognizing. It is called transparent wood, and it is see-through. It is
balsa wood that has been treated with special chemicals that make it (24) glass. Transparent wood is useful. For one thing, it’s light
and strong. It is also (25) tough and doesn’t shatter. (26) , it breaks down well in the environment. It leaves a smaller environmental
footprint than glass does. It’s also a great insulator. When used in home (27) , it could result in big energy savings. Glass is more
expensive to make and the process releases more carbon emissions. If all glass were replaced by transparent wood, global warming
- (28) . With all these benefits, hopefully transparent wood will be used in many buildings in the future.

24. (A) serve (B) resemble ~ (C) require ' (D) compare

25. (A) known to be (B) knowing tobe  (C) known to being (D) known to been
26. (A) However.  (B) At best (C) Instead (D) For another thing
27. (A) opportunity  (B) indicator (C) construction (D) funding

28. (A) could lessen (B) may lessen(C) should have lessened (D) would have lessened

1)

The letters X and O have long represented kisses and hugs in letters and emails. Have you ever asked yourself (29) these
symbols got their meaning from somewhere? One theory is that an X looks like someone’s lips getting ready for a kiss. Another (30)
‘to the Middle Ages, when many people couldn’t read or write, so they used X as a type of signature on contracts. The symbol also
stood for the Christian cross, (31) was like they were saying “In Christ’s name, this is (32) .” Later, people started to wear cross
necklaces that they would kiss sometimes. The meaning and the symbol thus have been (33) ever since.

29. (A) why (B) whether (C) what (D) when

30. (A) is used (B) is preferred (C) dates back (D) pays attention
31. (A) which (B) what (C) that (D) how

32. (A) impressive  (B) unworthy (C) impossible (D) true

33. (A) expected (B) connected (C) mentioned (D) established

III. Passage Completion X EiEH: EREFE - BRBXNE - 10% (HH157 )

(AB) at first - | (AC) shooting } (AD) in love (AE) desperately (BC) later on
(BD) unfortunately (BE) hardly (CD) curious (CE) symbols (DE) view

What image represents love to you? One of the most common love _(34) in history is Cupid. Who exactly is that chubby
little winged boy, and why is he _(35) _an arrow through a heart? The story of Cupid goes all the way back to ancient Greece. _(36),
Cupid was called Eros, and he was the god of passion and physical desire. He was the child of Aphrodite, who is also associated with
love, and Ares, the god of war. If you are _(37) about why he has wings, many say they represent the freedom of lovers to fly away .
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and find new lovers if they want to. Many texts _(38) Eros as somewhat naughty. Namely, he sometimes caused gods and people to
fall _(39) when they shouldn’t. He had his own love issues _(40) when he loved Psyche, whom his mother was jealous of. In the
beginning, Eros was thought to be a thin young man. Though _(41) he became younger and younger, by Roman times, he had
become a fat little baby, who was _(42) older than a year in age, and his name changed to Cupid. People believed that if they were
shot with Cupid’s arrow, their heart would be filled with desire, loving someone _(43) . That image and idea remains today, and
Cupid can often be seen in cartoons or on Valentine’s Day cards.

IV. Discourse Structure MEEE: 4% ( SH15)
The year 2020 has been terrible for the restaurant industry in most countries around the world. As COVID-19 rages on, many
countries have had to shut down restaurants and other eating locations. ___(44) _ More people are choosing to cook at home instead.
In countries like the United States, this has resulted in new food trends gaining popularity. __(45)  While these companies
advertise their products as being better for the environment and healthier for the body, they have long struggled with one major
problem: taste. How do you create the juicy taste of a beef burger by using only plant-based elements? ___(46)  Another problem
with plant-based meats is their high prices. These products are expensive because the companies that produce them spend a lot of
money on research and advertising. Moreover, people in Western countries are not as familiar with non-meat products like tofu and
seitan* as people in Asian countries are. ___(47) _ This solution has worked and led to a large increase in sales during the summer of
2020. Perhaps in a few years, plant-based “meats” will eventually replace real meats in our modern diets.
‘ 5F : seitan $0 57
(A) Researches at these companies have tried to solve this problem by adding more plant oils to their burgers and other fake
meat products to increase their juiceness.

(B) Nevertheless, companies like Three Strikes have thought of a solution: sellmg affordable value packs at grocery stores
around the country.

(C) Compared to the number of people who ate out before the breakout of COVID-19, not many people do so today.

(D) One such trend is the increased interest in plant-based meat products, which are sold by companies like Two Strikes and
Three Bads Foods.

V. Reading BRERALE: 16% - $48-5208 - ME293 - #1077 - FSIWRFRE - 659 °

()] In the northern part of Austin there once dwelt an honest family by the name of Smothers. The family consisted of John
Smothers, his wife, himself, their little daugh{cr, five years of age, and her parents, making six people toward the population of
the city when counted for a special write-up, but only three by actual count.

One night after supper the little girl was seized with a severe colic, and John Smothers hurried down town to get some
medicine. He never came back. The little girl recovered and in time grew up to womanhood. The mother grieved very much over
her husband's disappearance, and it was nearly three months before she married again, and moved to San Antonio.The little girl
also married in time, and after a few years had rolled around, she also had a little girl five years of age. She still lived in the same
house where they dwelt when her father had left and never returned.

One night by a remarkable coincidence her little girl was taken with cramp colic on the annlversary of the dlsappearance
of John Smothers, who would now have been her grandfather if he had been alive and had a steady job.

"I will go downtown and get some medicine for her," said John Smith, who was the husband and happened to share the
same name as the disappearing John Smothers.

"No, no, dear John," cried his wife. "You, too, might disappear forever, and then forget to come back."

So John Smith did not go, and together they sat by the bedside of little Pansy, who was the daughter. After a little, Pansy
seemed to grow worse, and John Smith again attempted to go for medicine, but his wife would not let him. Suddenly the door
opened, and an old man, stooped and bent, with long white hair, entered the room.

"Hello, here is grandpa," said Pansy. She had recognized him before any of the others. The old man drew a bottle of
medicine from his pocket and gave Pansy a spoonful. She got well immediately.

"I was a little late," said John Smothers, "as I waited for a street car."

Source: O. Henry O. Henry was the pen name of William Sydney Porter. “A Strange Story.” Short Edition, 9 Aug. 2018;
short-edition.com/en/classic/story/o-henry/a-strange-story.

48. According to the first paragraph, how many people were there in the family?
(A) Six. (B) Five. (C) Four (D) Three.

49. Who was John Smothers in the story?
(A) He was John Smith and the little Pansy’s father.
(B) He went to get medicine for his daughter and came back right away.
(C) He took out a bottle of medicine and fed his granddaughter.
(D) He went out to get medicine for his daughter and never came back.



an

Vaping is marketed as an alternative to smoking tobacco. There are likely several reasons teens find vaping interesting.
Electronic cigarettes (e-cigarettes) look extremely cool, and the liquids that they contain are manufactured in hundreds of
tempting flavors such as mint, mango, or strawberries and cream. Teens also think more about the here and now than the
future. Here and now, vaping may be cool, but down the road, it’s not. _

People see vaping as safe because they think that they’re just inhaling water vapor and tasty flavorings. But much more
than that is going into their lungs. Chemicals in the vapor can cause breathing difficulties, coughing fits, stomach problems
and weight loss. Permanent lung damage can also begin to occur as little as two weeks after the chemicals are inhaled. Even
more troubling is the presence of nicotine in the vapor. The potential for nicotine addiction is higher in teens than adults

.because a teenager’s brain is still developing. Nicotine use during the teen years can rewire one’s brain to become easily
addicted to other drugs. '

In spite of the dangers that vaping poses, the percentage of American teenagers who use e-cigarettes has been moving
upward for some time. Back in 2011, only one in fifty high school students had used e-cigarettes. That figure doubled to one
in twenty-five students by 2013. Between 2013 and 2014, the percentage of students who had vaped jumped sharply. After

. that, it increased more slowly and actually dropped between 2015 and 2016. The percentage remained quite level going into
2017 but then rose dramatically in 2018 and again in 2019.

Early in 2020, the U.S. government banned the sale of e-cigarettes that contain fruit- or mint-flavored liquids, which
have been especially popular among teens. By removing these products from the market, the government hopes to discourage
teens from vaping and protect them from the damage that this habit can cause.

50. According to the article, why are teens attracted to vaping devices?
(A) They’re quite simple to mend.
(B) They’re more economical now.
(C) They’re environmentally friendly.
(D) They’re fashionable in appearance.

51.Look at the following chart. It shows the percentage of American teenagers who used e-cigarettes between 2011
and 2019. Which line in the chart agrees with the information in the article?
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(I1D) :
The shoebill stork, with thick gray feathers and an enormous beak, like a Dutch wooden shoe, is quite a sight! Though it might
appear strange or even prehistoric, it is perfectly suited to its natural environment—the swamps of Central Africa.

Its most characteristic feature is its big, round beak, which has sharp edges and is perfect for cutting off the heads of its prey. Its
diet consists of fish, water snakes, frogs, turtles, and even baby crocodiles. At about 20 centimeters long and about the same across,
the beak also serves as an efficient water bucket that the shoebill stork uses to bathe its eggs with when they get too hot.

Besides its enormous beak, the shoebill has an equally impressive set of wings, measuring almost 2.5 meters from end to end.
Surprisingly, though, it’s not a great flyer. It mostly uses its wings to keep its balance when walking through marshes, where the
ground is often wet, slippery, and thick with grass. This environment seldom poses problems for the shoebill, however, as its long
legs, strong toes, and broad wings make traveling through the marshes a breeze.

Despite its almost comic appearance, the shoebill is an expert hunter. It will patiently wait in shallow water, often hidden
among the tall grass, for hours on end. When the opportunity comes, it strikes quickly, using the naillike tip of its beak to stab its
prey, which almost never escapes.

When it isn’t hunting, the shoebill is a gentle creature. It leads a lonely life, often living for more than 35 years in the wild,
mostly by itself and seldom making a sound. The only time it seeks out company is when it’s time to mate. When that time comes,
males stop being so quiet and begin to make loud clapping sounds with their beaks in order to simultaneously attract females and
scare away any competitors. When a pair of shoebills find each other attractive, their gentle natures once again take over, and they
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greet their new mate with a polite and respectful bow.
Sadly, habitat destruction and hunting by humans have left only around 5,000 shoebills left in the wild. If this strange and

wonderful creature were allowed to disappear from the earth for good, it would be a terrible tragedy.
52. Based on the passages above, what poses problems for the shoebills?
(A) Loud clapping sounds.
(B) Scare from the competitors.
(C) Thick, slimy marshes or the environment.
(D) Hunting by human beings.
53. Please fill out the following form based on the information given in the passages.

EETHNERAESNY EPHREEERE - AusE  —2FHD - 6%

What do shoebill storks eat? (Just name two.) )]
(2)
What are the two major functions of their beaks? | (1)
(2)

What is the function of their wings?

What do they do to attract females?

Please write your answer in blue or black ink on the answer sheet.
UTHIBRENEREEETRE LEX - AEE - —2F59 -
VL Translation 5| 8T8 : 22% - Bt§—%5 - '
. EEREBBEPLA—F 2 - fill - SERXBAMEERX I EE B/ s ' B IIY -

Cultural differences play a major part in education. ___(1)  _ (2) , Taiwanese parents do not encourage their children to
develop independence _(3) much _(4) American parents do. ,

2. Maria’ 8 B BEMRAMERBEFEE - REAMEREFESHZ2MHEEME -

Maria suddenly stood up and left the room without any _(5) . Nobody knew what was wrong and wheré she was going.

3. AREBAZ RAEREMIFIRIE  EHEBAERBEONTR

_(6) _(7) the lack of natural resources and geographical environment, this.region overly depends on imported merchandise.
4. Max A28RSammy Fif - FIEMER BEMIRER - HMEZ R -

Max didn’t want to get into an _(8) with Sammy, so he just ignored it when she talked about him behind his back.

5. BEMMEES At ESLEARENBR - ZERHERASWRREZRBENBEIF/IIRBHRE -

_(9) his effort in making _(10) by deadlines, his poor performance over the éemester couldn’t win him a passable grade.
6. EXRBRERAXRANEMERAKR  BENEABTREXRSED - -

The restaurant only uses natural (11) like fruits, vegetablés, and herbs in its dishes.

7. AR NN ERBREKBERNIEG - UEREMPNRXESBERTEES PP -

Nancy and her twin sister look so similar that even their parents cannot _(12) them sometimes.

8. Blennifer’@MEFZRPHIR - BUBIREZNBARECER -

When Jennifer finally _(13) _(14) at the conference, his friend who hated being stood up _(15) already _(16) .

9. ERLETCRHBENEED  ZEEHE -

This student had a hard _(17) ﬁndiﬁg the solution _(18) the math problem.

10. —fiI ~+ BB AR — B ARt S EATH -

A man in his twenties started an o_(19)  to clean up the world’s oceans.

11. EEREDSEEHRABBOA -

People of all races and n (20) are welcome in this country.

12. EREZE - M#fRERIa L MRBAPEIE A R R, -

Fans showed their a (21) for the amazing actor by throwing flowers up onto the stage after the show.

13. — BB RAAMER(E T Henry It R A 2 OB % - |

Spending holidays together greatly s (22) the bond between Henry and his family.
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53.  Please fill out the following form based on the information given in the passages. \ FTH 2 BAEF RS ESEE FHEXS - FLR#EE . —2FHD - 6%
What do they eat? (Just name two.) M (2)

What are the two major functions of their beaks? M
)

What is the function of their wings?

What do they do to attract females?

VI. Translation 5181, Mos:
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